-

Hence, the general solution is z

i

CF.
=P +x)+ o, + )
pxample 1.5.2 : Solve [D? = 2DD’ + D% 2= g,
Solution : [D? = 2DD’ + D%z = 0,
The auxiliary equation is m>=2m+1 =0
[Replace D by m and D' by 1]
ie., (m - 1) =0
m =11

Here, the roots are equal

= ¢ +x) +x9, (v +x).
Since R.H.S. 1s zero, there is no particular integral

Hence, the general solution is z = CF

z= ¢y +x) +x‘éy

Example 1.53 : Solve [D3 +DD'2 - Gtel%é
Solution : Given D3 ]ﬁ‘ Ogg\ {])3

The au!dl@y“%uatlon is E’a’g +tm-1 =0

[Replace D by m and D’ by 1]

e V¥

i
<

m?(m — 1) + (m - 1)
(m—-1)(m*+1) =0
m=1,m+1 =0
e, m =1, m = *i
e, m = Lm=ims=~—i
Here, the roots are distinct
“CF = ¢ (y+x)+ gy +ix) + 30~
Since R | g, is zero, there is no particular integral
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